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1718E THF ERN 1Rt 0.41 0.59 0.80 - 1262 03
171EE | THF g EHih 0.32 0.59 0.86 - 1211 01
1TEE | THF I i 0.54 0.67 0.93 - 1166 02
11&5E THF IR 1R 0.72 0.99 1.22 - 1166 01
1TEE | THF L b 0.42 0.54 0.80 - 1211 03
11EE TEHF &H FAI7ILE 0.31 0.40 0.53 - 1312 03
1718E THF $H Hih 0.36 0.55 0.78 - 1210 01
11&5E THF FHEFE Eith 0.60 0.81 0.99 - 1210 02
1718E THF FHETE Hih 0.50 0.69 0.92 - 1210 03
11&5E THF AHAT 1Rt 0.44 0.68 0.76 - 1363 03
178% | THF B i 0.60 0.83 1.10 - 1364 01
171EE TEHF BN FAI7ILE 0.25 0.37 047 - 1313 04
1718E THF i T AI7ILE 0.30 0.37 0.46 - 1312 02
178F |H&EER (F)FXRA [t 0.15 0.18 - - 1351 02
1718E TEER B Hih 0.22 0.27 0.33 - 1350 01
178F |FEER EiR Eih 0.20 0.23 - - 1302 02
171EE |ERER =R b 0.09 0.11 0.48 0.63 1352 01
171EE EER iz 1Rt 0.20 0.25 - - 1204 03
17TEE |[EER SARAT Eih 0.24 0.31 - - 1353 02
171EE EER =Y Hith 0.29 0.39 - - 1160 02
1718E ERER =4:0] 1Rih 0.20 0.30 - - 1161 02
171EE EER TR Hith 0.23 0.29 - - 1205 03
171EE  |ERER H+ES R 0.26 0.35 - - 1303 02
171EE EER E+7EGAT [Eih 0.21 0.25 - - 1303 03
1718E EER #%EH Eih 0.33 0.43 0.44 - 1204 01
171EE EER SHE Hith 0.34 0.42 0.55 - 1205 01
171EE |ERER INBE Eih 0.22 0.27 - - 1252 03
171EE EER BT 1Rt 0.24 0.29 - - 1302 03
175E EER LB Hifh 0.30 0.35 - - 1353 03
171EE EER N1 1Rt 0.29 0.38 0.44 - 1353 01
115 EER W5 RO FI 0.24 0.36 0.39 0.72 1252 01
171EE EER FHBA R L F 0.24 0.25 - - 1352 03
17EE  |ERER Al b 0.19 0.24 - - 1351 03
11EE EER 28113 Hifh 0.23 0.27 0.35 - 1351 01
17EE  |ERER 7 Eih 0.13 0.15 - - 1204 02
11EE EER AHA L F 0.11 0.12 - - 1253 02
1718E EER HEHN Eih 0.27 0.35 0.44 - 1253 01
11EE EER RE Hifh 0.33 0.41 - - 1253 03
1718E EER 18 /R Hifh 0.26 0.31 0.39 - 1302 01
11EE EER P Hifh 0.19 0.21 - - 1352 02
1718E TEER B 1Eih 0.21 0.25 0.33 - 1303 01
178E  |EER FmLEA i 0.25 0.31 - - 1252 02
17EE  |ERER Je#k Eih 0.26 0.31 - - 1350 02
11EE [EZS FHER 1Rt 0.21 0.26 0.35 - 1403 01
11EE AR =i L F 0.22 0.29 - - 1407 02
11EE [EZS T#H Eih 0.39 0.53 0.68 - 1456 01
17TEE  |BEX T Eih 0.20 0.38 - - 1498 02
1718E [EZS TEH Eih 0.30 0.41 - - 1356 03
171EE  |BEX TEH Eih 0.33 0.42 0.57 - 1357 01
1718E [EZS TEH Eih 0.38 0.52 - - 1357 02
171EE  |BEX THI Eih 0.29 0.38 - - 1404 02
1718E [EZS T# Hifh 0.28 0.35 - - 1401 03
171EE  |BEX KR Eih 0.23 0.29 - - 1449 02
178%F [EZS SIRF 1Rt 0.21 0.26 - - 1401 02
11EE A iR RO FI 0.21 0.30 0.46 - 1408 01
171E8E [EZS iR Hifh 0.35 0.44 0.62 - 1408 03
17EE  |BX ] Fih 0.31 0.41 - - 1451 02
171E8E [EZS Eit Eih 0.18 0.24 - - 1403 02
1TEE  |#X EX Eih 0.29 0.33 0.42 - 1402 01
171E8E [EZS EXR Hifh 0.22 0.26 - - 1402 02
1TEE  |EX M H Fih 0.33 0.39 - - 1407 03
1715ZE [EZS IR RO FI 0.29 0.36 0.46 0.80 1407 01
17TEE  |BX INEH i 0.24 0.32 - - 1357 03
178%E [EZS LHFHEH Hifh 0.16 0.18 - - 1498 03
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178%E AR Nk Eih 0.21 0.28 0.30 - 1450 01
171EE  |#X #BAL Fith 0.18 0.26 - - 1450 02
171EE  |B&X AR T2 0.21 0.28 - - 1451 03
171EE  |#X FBAAT Fith 0.18 0.24 - - 1450 03
178%E [EZS ZB)Il3m Hih 0.30 0.38 0.55 - 1358 03
17TEE  |&X THEEH Eih 0.26 0.36 - - 1456 02
171EE  |BX AR T 0.25 0.31 0.31 0.64 1401 01
17E5E [EZN ATt Eith 0.39 0.53 0.73 - 1408 02
178E AR IR Rith 0.18 0.24 - - 1400 02
178F &K EIEES {E] 0.19 0.26 0.47 - 1358 02
178%E [ETN at L F 0.17 0.24 0.28 - 1400 01
178F &K it Eih 0.20 0.30 - - 1400 03
178%E [ETN it Rith 0.24 0.29 - - 1350 03
178F &K @ Eih 0.29 0.41 - - 1456 03
178%E [ETN JE X EF Rith 0.10 0.37 - - 1402 03
11&5E [N deZE)Il Eith 0.43 0.55 0.77 - 1359 02
115EZE [EZS #IH L F 0.16 0.21 - - 1403 03
11&5E [N NG Eith 0.23 0.27 0.35 - 1449 01
178%E [EZS E PN Hith 0.17 0.25 - - 1449 03
171EE EARE TEE TFAI7ILE 0.28 0.35 0.57 - 1169 01
1718E EXE TR Eih 0.62 0.74 1.10 - 1362 02
171EE EARE AR Eith 0.60 0.84 1.00 - 1362 03
17E5E HEARE #nEde L F 0.23 0.28 0.48 0.87 1167 03
171EE EARE #Edt Eith 0.49 0.60 0.88 - 1168 01
17E5E HEARE #nEde Eih 0.36 0.47 0.84 - 1212 01
171EE EARE HOE Eith 0.55 0.67 1.02 - 1083 03
118E |EXH HEE 12ih 0.55 0.67 1.02 - 1083 02
171EE EARE HOER Eith 0.63 0.83 1.21 - 1126 02
175E EXE b S =[] Eih 0.66 0.81 1.10 - 1125 01
115E EARE =i5 L F 0.17 0.79 1.13 1.43 1082 03
118E |EXH =i5 i 0.53 0.63 0.93 - 1082 02
115E EARE fi: 1Rt 0.13 0.18 1.27 1.52 1214 03
17E5E EXE Eogau:l] Eih 0.49 0.67 0.84 - 1261 01
115E EARE RIS Eith 0.34 0.42 0.76 - 1167 01
1718E EXE R Eih 0.55 0.68 1.01 - 1167 02
171E=E EARE HiES Eih 0.33 0.44 0.61 - 1126 01
17E8E HEAREF T Eih 0.62 0.87 1.10 - 1081 02
171E=E #EARE ENRRER BEih 0.56 0.67 1.02 - 1124 02
1718E EXEH EIPRER 1Eih 0.25 0.30 0.57 - 1124 03
171E=E #EARE =% L F 0.29 0.40 0.52 - 1038 03
118E  |EXH =% I 0.39 0.57 - - 1080 03
171E=E #EARE EXRER L F 0.19 0.25 - - 1079 02
118E  |EXH EXAHE i 0.45 0.63 0.79 - 1122 01
11EE EARE EXRER Eih 0.57 0.82 1.07 - 1123 02
118E |EXH EXAHE i 0.52 0.70 0.96 - 1166 03
171E=E EARE EXRER 1Rt 0.19 0.78 - - 1122 02
118E  |EXH LR i 0.45 0.51 1.05 - 1211 02
11EE #EARE LRE R 0.67 0.77 0.99 - 1124 01
1718E EXEH IR Eih 0.50 0.73 0.91 - 1080 01
171E=E #EARE A Eih 0.61 0.84 1.03 - 1081 01
1718E |EXH bR 12 0.41 0.60 - - 1080 02
178%F EARE IR 1Rt 0.41 0.55 0.70 - 1123 01
1718E |EXH bR Fith 0.60 0.91 1.04 - 1123 03
178%F EARE KO FAI7ILE 0.16 0.22 0.37 - 1214 02
1715E HEAREF 2 FAI7ILE 0.25 0.30 0.56 - 1213 03
178%F EARE 2 Eih 0.54 0.67 0.97 - 1212 02
1718E |EXH [l B3 0.63 0.92 1.19 - 1081 03
178%F EARE i Eih 0.44 0.55 0.85 - 1168 02
1718E |EXH aH Eih 0.58 0.73 0.92 - 1212 03
178%F EARE A H Eih 0.50 0.74 0.99 - 1259 03
175E EXEH £ H Hih 0.47 0.66 0.93 - 1260 03
178F EARE bk Eih 0.44 0.66 0.83 - 1311 03
171E5E HEAREF RER FAI7ILE 0.27 0.33 0.45 - 1214 04
178F EARE RELHE FAI7ILE 0.18 0.28 0.46 - 1214 01
171E5E HEAREF FEs FAI7ILE 0.27 0.40 0.75 - 1213 02
1718E HEARE FUNE FAI7ILE 0.30 0.44 0.69 - 1127 04
171EE HEAREF TR FAI7ILE 0.24 0.30 0.53 - 1169 03
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178%E EARE BT R FAI7ILE 0.11 0.17 0.28 - 1169 02
171EE N3 BT FAI7ILE 0.21 0.27 0.45 - 1213 01
178%E EARE RIH Eih 0.36 0.45 0.82 - 1168 03
115E  |EXH R/t i 0.41 0.55 0.74 - 1262 02
178%E EXRE B/ Rith 0.44 0.63 0.86 - 1262 01
17E5E HERE [k Eith 0.45 0.65 0.89 - 1261 03
178%E EXREH P Rith 0.33 0.53 0.79 - 1261 02
11EE EXEH HHEE L F 0.37 0.44 0.73 1.25 1126 03
1718E EXREH J\FIH Hih 0.44 0.61 0.80 - 1260 02
17TEE  |EXEH REBGI Fih 0.35 1.00 1.15 - 1361 02
178%E EAREF = EBEI Rith 0.57 0.78 1.09 - 1361 03
11EE EXEH I Eith 0.53 0.74 1.57 - 1082 01
178%E EXREH Eld=] L F 0.94 1.03 1.05 - 1040 02
11&5E HERE 5 Eith 0.52 0.70 1.03 - 1311 02
178%E EXREH KT Hih 0.46 0.57 0.89 - 1125 02
17TEE  |EXH KET Eih 0.61 0.80 1.10 - 1125 03
1718E EAREF Bk FAI7ILE 0.29 0.37 0.80 - 1215 03
11&5E HERE AR Eith 0.55 0.69 0.96 - 1311 01
178%E e Tai Hih 0.26 0.35 042 - 1550 01
115E EX5 JRH b 0.07 0.33 0.39 0.63 1454 01
1718E EEF hiRE 1R ih 0.24 0.34 - - 1454 02
115E EX5 LR Eith 0.32 0.45 0.53 - 1504 01
17E5E EEF ER Eih 0.27 0.35 042 - 1549 03
115E EX5 e Eith 0.26 0.32 0.38 - 1596 02
1718E EEF 5% Eih 0.24 0.34 0.40 - 1549 01
17EE |EF EKAR Fih 0.38 0.44 - - 1455 02
1TEE |EH aH Eih 0.40 0.52 0.75 - 1406 01
171EE EX5 JIRE Eith 0.21 0.25 0.35 - 1550 02
1718E EEF JIER Eih 0.26 0.34 047 - 1550 03
115E EX5 FLEERH  [Eih 0.30 0.37 - - 1503 03
175E EEF aER Eih 0.44 0.48 - - 1503 02
115E EX5 It ERNIER | B 0.26 0.34 0.44 - 1503 01
1TEE |EH &/H L 0.20 0.35 - - 1502 03
115E EX5 M/NTF 1Rt 0.17 0.26 - - 1455 03
175E EEF JB/R px3:ul 0.29 0.35 0.48 - 1455 01
171E=E EX5 X#HT 1Rt 0.09 0.37 0.43 - 1502 01
1TEE |EH RAHET 12ih 0.28 0.35 - - 1502 02
171E=E EX5 — &Rl BEih 0.28 0.36 - - 1504 03
1718E E% B/E L F 0.29 0.41 0.51 - 1551 03
171E=E EX5 dttB8/8 L F 0.25 0.31 0.37 - 1551 02
1718E E% ttE/E Eih 0.26 0.34 0.45 - 1551 01
171E=E EX5 RENEH |[Fih 0.23 0.33 0.41 - 1549 02
1718E E% /B Ex3:ul 0.17 0.19 - - 1406 03
1718F EX5 A H Eih 0.32 0.45 - - 1504 02
17E8E L8F il 1&ih 0.41 0.57 0.83 1.44 1309 01
11EE LEF TR BEih 0.60 0.64 1.13 - 1360 01
17E8E L8F T Eih 0.46 0.59 0.88 - 1309 03
11EE LEF TEiH FAI7ILE 0.12 0.18 0.29 - 1307 01
1718E L8F TFi5 L F 0.38 0.49 0.60 0.81 1307 02
1718F LEF #ET Eih 0.29 0.40 0.56 - 1255 01
175E L8F #ER Hih 0.32 0.48 0.65 - 1256 01
178%F LEF #ER Eih 0.29 0.37 - - 1256 03
11EE | LHF $B/T Eih 0.45 0.51 0.75 - 1308 02
178%F LEF fEE Eih 0.51 0.62 0.86 - 1309 02
171EE | LHF BA 12 0.40 0.50 0.73 - 1258 02
1715ZE LEF |5 L F 0.16 0.25 043 - 1308 01
175E L8F ROE Hih 0.37 0.51 0.70 - 1258 01
1718E LEF ERT Eih 0.52 0.73 1.00 - 1259 02
11EE | LHF LFi5 12 0.27 0.34 - - 1256 02
178%F LEF $H 1Rt 0.34 0.44 - - 1257 02
175E L8F RITH Hih 0.50 0.72 0.98 - 1310 02
1715ZE LEF KR L F 0.47 0.55 0.78 - 1308 03
171E5E L8F KiE FAI7ILE 0.25 0.36 - - 1209 02
178F LEF K R 0.36 0.50 - - 1307 04
171EE L8F /A L F 0.31 0.45 0.62 - 1310 03
178%E LEF aap Eih 0.36 0.48 0.63 - 1358 01
1TEE | LHEF it [E 0.26 0.33 - - 1307 03
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1718E LEF 1z L F 0.32 0.41 0.58 - 1257 01
11EE | EHF ET i 0.48 0.71 0.89 - 1260 01
178%E LEF JeiE Eih 0.40 0.54 0.76 - 1258 03
11EE | EHF ;& i 0.55 0.73 1.04 - 1310 01
178%E L8F AN Rith 0.33 0.41 - - 1257 03
17E5E T8F F1H 1R 0.41 0.59 0.85 - 1259 01
178%E ERR—TH FAI7ILE 0.21 0.28 0.51 - 1313 01
17EE  |EBR—TH 2ih 0.13 0.15 1.08 1.66 1313 02
1718E FERR_-TH FAI7ILE 0.20 0.27 0.36 - 1263 01
17E5E mPR=TH FAZ7ILE 0.26 0.37 0.58 - 1263 05
1718E BAHhR=TH E3iul 0.16 0.20 1.04 1.49 1263 06
171EE FERRAMETH FAI7ILE 0.17 0.31 0.47 - 1312 01
1718E BAHhRATH FAI7ILE 0.24 0.30 0.41 - 1313 03
17EE |ETRETH 2ih 0.18 0.24 1.01 1.51 1313 05
1718E BTEEIR EEE FAI7ILE 0.14 0.20 0.24 - 1162 01
11EE BTREIR — A% FAI7ILE 0.28 0.38 - - 1163 03
1718E BT BEIR —X¥ FAI7ILE 0.13 0.17 - - 1164 02
11&5E BTREIR EAH Eith 0.34 0.46 0.55 - 1254 01
178%E BTEEIR RE Rith 0.41 0.48 0.59 - 1118 01
115E BTREIR RE R 0.43 0.44 - - 1118 02
17EE BT REIR E=E— FAI7ILE 0.19 0.26 - - 1209 03
115E BTREIR EER= 1Rt 0.31 0.40 - - 1121 03
17EE BTEIR ERZ FAI7ILE 0.23 0.34 0.54 - 1165 01
171EE BTREIR ER= FAI7ILE 0.25 0.34 - - 1165 03
11EE  |BTER EEZ FAI7ILE 0.35 0.50 - - 1165 04
115E BTREIR ER= R 0.12 0.14 0.97 1.23 1165 02
175E BTEIR FEET 1Rih 0.23 0.31 0.34 - 1119 01
115E BTREIR EHEIR 1Rt 0.25 0.32 0.43 - 1117 01
175E BTEIR EEIR px3:ul 0.20 0.26 - - 1117 03
115E BTREIR EiR FAI7ILE 0.23 0.33 0.41 - 1207 01
1718E BT BEIR W/ T FAI7ILE 0.14 0.20 - - 1207 02
115E BTREIR XN 1Rt 0.44 0.52 - - 1120 02
1718E BTEIR 2R L F 0.28 0.36 0.45 - 1161 01
115E BTREIR BT L F 0.11 0.27 - - 1118 03
1718E BTEIR =H Eih 0.34 0.44 0.55 - 1077 01
171E=E BTRE IR =H Eih 0.28 0.36 - - 1077 02
11EE  |BER £iR b 0.20 0.24 - - 1160 03
171E=E BTRE IR R/H BEih 0.44 0.55 0.71 - 1120 01
17E8E BTEIR R Eih 0.49 0.64 - - 1077 03
171EE BTREIR S i 0.36 0.46 - - 1119 02
1715E  |RIER [Heh Eih 0.55 0.75 - - 1122 03
171E=E BTRE IR [RHE 1Rt 0.20 0.22 - - 1254 03
17E8E BTEIR R Eih 0.44 0.55 0.68 - 1078 01
171EE BTREIR Ik FAI7ILE 0.21 0.28 0.45 - 1164 01
11EE BTEIR FBT L F 0.16 0.32 0.51 0.79 1162 02
171E=E BTRE IR IR H BEih 0.33 0.40 - - 1076 03
17E8E BTEIR JRH 1Eih 0.30 0.35 - - 1075 02
171E=E BTRE IR IR H 1Rt 0.32 0.42 - - 1117 02
17E8E BTEIR /T Eih 0.33 0.42 0.50 - 1076 01
171E=E BTREIR /T 1R 0.39 0.50 - - 1076 02
175E BTREIR &R Hih 0.35 0.44 0.52 - 1160 01
178%F BTRE IR INR R 0.29 0.38 - - 1078 02
175E BTREIR INR 12ih 0.44 0.59 - - 1078 03
171EE BTREIR W/T FAI7ILE 0.20 0.26 - - 1208 02
11EE  |RIER &K 12 0.20 0.28 0.28 0.66 1115 01
171EE BTREIR LEK Bty 0.34 0.49 - - 1115 03
175E BTREIR FET avy)—k 0.14 0.20 - - 1207 03
171EE BTREIR THE FAI7ILE 0.18 0.23 0.42 - 1209 01
11EE  |RIER K& Eih 0.60 0.73 0.90 - 1079 01
178%F BTRE IR PG R 0.32 0.43 - - 1079 03
11EE  |BER K& 12 0.20 0.32 0.50 - 1121 01
171EE BTREIR PN 2 0.48 0.62 - - 1121 02
11EE  |RIER KYEHE Eih 0.26 0.29 - - 1255 03
178F BTRE IR R Eih 0.34 0.44 - - 1120 03
17E5E BTEIR hiE TAI7ILE 0.14 0.19 0.29 - 1163 01
1715E BTREIR & FAI7ILE 0.14 0.21 - - 1163 02
17EE BTREIR M FAI7ILE 0.15 0.22 0.29 - 1208 01
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115E BTREIR W FAI7ILE 0.22 0.33 - - 1208 03
1715E BTREIR ZEH FAIZ7ILE 0.25 0.34 - - 1206 03
178%E BTRE R KIIR R 0.27 0.36 - - 1161 03
11EE ETEEIR REHE i 0.32 0.39 - - 1205 02
1718E BTEEIR Ll FAI7ILE 0.14 0.19 - - 1162 03
171EE BTREIR 7 FAI7ILE 0.45 0.53 0.44 - 1206 01
1718E BTEEIR HiF FAI7ILE 0.20 0.28 - - 1206 02
11&5E BTREIR PRIET FAI7ILE 0.13 0.18 - - 1162 04
178E BTEEIR iba FAI7ILE 0.15 0.22 - - 1164 03
11&5E BTREIR = L F 0.18 0.24 0.29 - 1074 01
115E BTREIR =W T 0.23 0.35 - - 1074 03
11&5E BTREIR = L F 0.14 0.25 - - 1075 03
115E BTREIR =W T 0.24 0.34 0.45 - 1116 01
17E5E BTREIR = Eith 0.26 0.34 0.37 - 1073 01
178%E BTEEIR =] Hih 0.31 0.43 - - 1116 03
11EE BTREIR =W 2 0.27 0.35 - - 1073 02
178%E BTEEIR =] Rith 0.23 0.42 - - 1073 03
11EE BTREIR =W 2 0.21 0.28 - - 1074 02
178%E BTEEIR =] Rith 0.31 0.45 0.44 - 1075 01
115E BTREIR =l 1Rt 0.30 0.43 - - 1115 02
175E BTEIR =] 1R ih 0.30 0.48 - - 1116 02
171EE BTREIR XKH Eith 0.41 0.53 - - 1119 03
1718E BTEIR KT Eih 0.39 0.49 0.67 - 1037 01
171EE ) BRT B 0.20 0.26 - - 1454 03
11EE T TH i 0.20 0.25 - - 1452 02
171&5F T TH Eith 0.25 0.34 0.45 - 1500 01
11EE T [REFHT 12ih 0.19 0.28 - - 1405 02
171&5F T &% Eith 0.27 0.35 - - 1405 03
175E T FERF Eih 0.27 0.32 - - 1453 02
171EE T it 3T Eith 0.17 0.23 0.30 0.56 1498 01
175E T It 3T Eih 0.17 0.27 0.27 - 1546 01
171&5F T FET 1Rt 0.21 0.29 - - 1404 03
115 T IR L F 0.17 0.26 - - 1499 03
115E T A L F 0.16 0.21 - - 1500 02
175E T IR Eih 0.23 0.33 0.39 - 1547 01
1718F T HE Eih 0.21 0.31 0.39 - 1596 01
11EE T Tk L F 0.19 0.32 0.36 - 1547 02
1718F T TRk BEih 0.24 0.33 0.30 - 1546 03
17E8E T Tk Eih 0.21 0.35 0.39 - 1547 03
1718F T TRk BEih 0.16 0.20 0.26 - 1593 03
17E8E T Al Eih 0.22 0.32 0.36 - 1595 01
1718F T RS BEih 0.19 0.27 0.34 - 1499 01
11EE i) KEH i 0.33 0.43 0.49 - 1453 01
11EE T KEH Eih 0.26 0.31 - - 1501 02
17E8E T Aith Eih 0.29 0.36 047 - 1404 01
1718F T 2RI BEih 0.20 0.26 0.35 - 1452 01
17E8E T A #hEE Ex3:ul 0.20 0.27 - - 1501 03
171E=E T ik L F 0.16 0.26 0.23 - 1548 02
17E8E T ik Eih 0.25 0.33 0.40 - 1548 01
11EE T a2y L F 0.21 0.30 0.43 - 1501 01
11EE T R 12 0.22 0.27 - - 1499 02
178%F T HRE R 0.20 0.26 - - 1500 03
11EE T At 12 0.20 0.27 - - 1453 03
1718E T —_RH 1Rt 0.11 0.16 0.59 0.95 1405 01
11EE T —RHE 12 0.25 0.35 - - 1406 02
1715ZE T RS L F 0.26 0.38 0.46 - 1451 01
11EE T LA hEE B3 0.18 0.28 - - 1452 03
178%F T BEN Eih 0.27 0.32 0.38 - 1548 03
17EE RPR=-TH FAI7ILE 0.21 0.27 0.45 - 1264 04
1715ZE RHR_-TH 1Rt 0.14 0.17 1.08 1.71 1264 05
17EE HPR=TH FAI7ILE 0.27 0.39 0.50 - 1264 03
178F ERR—TH FAI7ILE 0.30 0.43 0.54 - 1314 03
17EE EPR=-TH FAI7ILE 0.20 0.24 0.35 - 1264 02
1715ZE ERR-TH 1R 0.11 0.12 0.15 1.78 1264 01
17EE BEPR=TH FAI7ILE 0.32 0.43 0.71 - 1314 01
178%E FAHRRETH FAI7ILE 0.23 0.29 0.41 - 1314 02
1718E  |ZFF =5 i 0.31 0.41 0.61 - 1306 01
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1718E —FiF [ L F 0.27 0.35 - - 1306 03
171E5EE —F5 MR Hifh 0.32 0.37 - - 1355 02
1718E —FiF H#a Eih 0.29 0.36 0.48 - 1355 01
171E5EE —FE HEe Hifh 0.34 0.44 - - 1356 02
1718E —F5 H#a 1Rt 0.11 0.14 - - 1355 03
11&5E —FE #t Bk Eith 0.35 0.41 0.54 - 1305 01
1718E —F5 S 1Rt 0.26 0.32 - - 1305 03
11&5E —FE K i 1R 0.25 0.31 - - 1254 02
1718E —F5 XF®E Hifh 0.30 0.42 - - 1255 02
11&5E —FE XF®E Eith 0.37 0.42 - - 1304 02
1718E —F5 ETF Hih 0.34 0.43 0.58 - 1356 01
11&5E —FE B Eith 0.30 0.38 - - 1305 02
115 —F5 Eit Hifh 0.28 0.35 - - 1304 03
1718E  |=ZFE W/E i 0.33 0.49 - - 1306 02
1718E —F5 BA 4 Hifh 0.27 0.37 0.49 - 1304 01
11&5E —FE BR #4 Eith 0.32 0.44 0.52 - 1354 01
1718E —F5 BA 4 Hifh 0.32 0.40 - - 1354 02
11&5E —FE BR #H AT 1R 0.22 0.26 - - 1354 03
178%E J\EH %0 Hifh 0.43 0.52 0.83 - 1216 01
7EEZ  |/\BH FFiEH FAI7ILE 0.25 0.31 0.46 - 1215 02
17E5E \EH RAREHRT FAI7ILE 0.19 0.27 0.49 - 1170 01
7EEZ  |/\BH HEARET FAI7ILE 0.29 0.34 0.59 - 1170 02
17E5E J\EH Jeip FAI7ILE 0.34 0.43 0.53 - 1170 04
7EEZ  |/\BH /0 FAI7ILE 0.31 0.38 0.65 - 1215 01
17E5E J\EH EEH 1Rith 0.22 0.25 1.45 2.15 1172 02
115E J\EH TEHE L F 0.14 0.14 0.59 1.02 1170 03
175E dR—TH px3:ul 0.12 0.15 0.21 1.91 1263 02
115E FthR=TH FAI7ILE 0.20 0.29 0.47 - 1263 03
1718E dthR=TH px3:ul 0.24 0.32 0.28 1.76 1263 04




